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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 (IÊS> - "A')
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Why business economics is said to be an economics of a 

firm?

		  ì¶mdgm{¶H$ AW©emñÌ H$mo ’$‘© H$m AW©emñÌ ³¶m| H$hm OmVm h¡?

	 (ii)	 What is utility?

		  Cn¶mo{JVm ³¶m h¡?

	 (iii)	 Explain the meaning of consumer surplus.

		  Cn^mo³Vm H$s ~MV H$m AW© ñnîQ> H$s{O¶o&

	 (iv)	 Explain the meaning of economic system.

		  Am{W©H$ àUmbr H$m AW© ñnîQ> H$s{O¶o&

	 (v)	 What do you mean by income demand?

		  Am¶ ‘m§J go Amn ³¶m g‘PVo h¡?

	 (vi)	 Explain the meaning of opportunity cost.

		  Adga bmJV H$m AW© ~VmB¶o&

	 (vii)	What do you mean by non price competition?

		  J¡a H$s‘V à{V¶mo{JVm go AmnH$m ³¶m A{^àm¶ h¡?

	 Section - B	 4 × 7 = 28

(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 

exceed 200 words. Each question carries 07 marks.
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(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 07 A§H$m| H$m h¡&

2)	 Explain the importance of business economics.
	 ì¶mdgm{¶H$ AW©emñÌ H$m ‘hÎd ñnîQ> H$s{O¶o&

3)	 Explain the law of diminishing marginal utility with the help of 
diagram and give its limitations.

	 gr‘m§V Cn¶mo{JVm ömg {Z¶‘ H$s g{MÌ ì¶m»¶m H$s{O¶o VWm Bg‘| gr‘mE§ 
~VbmB¶o&

4)	 Define the law of demand and also mention the assumptions 
of the law of demand.

	 ‘m§J Ho$ {Z¶‘ H$mo n[a^m{fV H$s{O¶o Am¡a ‘m§J Ho$ {Z¶‘ H$s ‘mÝ¶VmE§ ^r 
ñnîQ> H$s{O¶o&

5)	 Define production function and state its general characteristics.
	 CËnmXZ ’$bZ H$s n[a^mfm Xr{O¶o VWm BgH$s gm‘mÝ¶ {deofVmE± ~VmB¶o&

6)	 Explain the reasons for the application of the law of increasing 
returns.

	 CËn{V d¥{Õ {Z¶‘ bmJy hmoZo Ho$ H$maU ~VmB¶o&

7)	 Distinguish between money wages and real wages.
	 ‘m¡{ÐH$ ‘OXÿar VWm dmñV{dH$ ‘OXÿar ‘| A§Va H$s{O¶o&

8)	 Describe important criticism of ricardian theory of rent.
	 [aH$mS>m] Ho$ bJmZ {gÕm§V H$s à‘wI AmbmoMZmE§ d{U©V H$s{O¶o&

9)	 Explain the dynamic theory of profit.

	 bm^ Ho$ àmd¢{JH$ {gÕm§V H$mo g‘PmB¶o&
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	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 Define economic problem. Explain the reasons which are 
responsible for occurrence of economic problem.

	 Am{W©H$ g‘ñ¶m H$mo n[a^m{fV H$s{O¶o& CZ H$maUm| H$m dU©Z H$s{O¶o Omo 
Am{W©H$ g‘ñ¶m Ho$ CËnÝZ hmoZo Ho$ {b¶o CÎmaXm¶r h¡?

11)	 Explain with the help of diagrams different types of elasticity of 
demand.

	 ‘m§J H$s bmoM Ho$ {d{^ÝZ àH$mam| H$mo aoIm{MÌm| H$s ghm¶Vm go ñnîQ> 
H$s{O¶|&

12)	 Distinguish between perfect competition and imperfect 
competition. Can a firm earn abnormal profit under conditions 
of monopolistic competition in the short term?

	 nyU© à{V¶mo{JVm VWm AnyU© à{V¶mo{JVm ‘| A§Va ñnîQ> H$s{O¶o& ³¶m 
AënH$mb ‘| EH$m{YH$mamË‘H$ à{V¶mo{JVm ‘| ’$‘© Agm‘mÝ¶ bm^ H$‘m 
gH$Vr h¡?

13)	 Define national income. Explain how national income is 
measured? What are the difficulties in analysis national 
income?

	 amîQ´>r¶ Am¶ H$s n[a^mfm Xr{O¶o& amîQ´>r¶ Am¶ H$s ‘mn {H$g àH$ma H$s 
OmVr h¡? amîQ´>r¶ Am¶ {dûbofU ‘| {H$Z H${R>ZmB¶m| H$m gm‘Zm H$aZm 
n‹S>Vm h¡?


